Unit 8 Day 10 Notes on Completing the Square KQ(A,

: Warm-Up!

Square the binomial. :
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Let’s look at a pattern here:
1. 2.

—(°—=3 Wo 379 —2—?”[ a> U457

Z ‘lq ;“ﬁl AND

NG

Complete the Square.
How can we reverse the procedure? Find the number that “completes the square”:
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Let’s Practice!

Find the value of ¢ such that each expression is a perfect-square trinomial. Then write the expression as

the square of a binomial.

5. X2%+18X+C C 6.g° —4q+c C 7.p°-30p+c
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Completing the Square

BUT! You must keep the expression balanced.
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You can change the expression x° + bx into a perfect-square trinomial by adding (E} tox’ +bx.




Put the Following in Vertex Form. * C me h//h“g M S@AM\{ *
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